BRBREHNN-957

aUNE: MRERH O BB EH
FEEAR: 19%7RA278H (1) MEFERR: 1947R278 (1)
fE@a—Z: OUT IN IEGRES & v NE fEE3—Z: OUT IN IEGERES & Y NIE
BHAE: WAUP BkIERL: 1:9'0A SMAL BHEAE: WAUP BXIEG: 1:9'0A SMAK
HDCP_LBR: $1%:99 %ki4:99 =7:99 2HIUMNYY B & 2 A HDCP_EBR: $B1%:99 %k14:99 =7:99 2HIUINYY B & 122 A
Avb: kL T & 6 A hvb: kL T & 6 A
EL+—): OUT 2@3@56©80 =7 0A EL+—: OUT @350 =7 0A
IN 00241848 i 8 A IN 0024848 i 128 A
MEL SmER OUT| IN GROSS| HDCP | NET 5 5 | {1 SmER OUT| IN GROSS| HDCP | NET i 5
B EL EE v 37 81 13.2 67.8 51 /P B— 49 15 95 216 734
EERXKE OB 41 39 80 10.8 69.2 52 B & H 39 37 76 24 736
3 (WX BT 45 41 86 16.8 69.2 53 | X# EE 40 42 82 8.4 73.6
4 BEX EE 44 42 86 16.8 69.2 54 |&EIH & 43 45 88 144 736
5 R # 36 31 67 +2.4 69.4 55 |T R%x 35 39 74 0.0 740
6 &= A 48 54 102 324 69.6 56 |tk Z1E 44 42 86 12.0 74.0
7 | XK#E &7 39 38 77 7.2 69.8 57 |k & 45 40 85 10.8 742
8 [BEFE = 46 48 94 24.0 70.0 58 k4K E— 45 46 97 16.8 742
9 KWl ® 38 36 74 36 70.4 59 |X#f FI 40 44 84 96 744
10 =/ &— 41 45 86 15.6 70.4 60 |&% Al 48 48 96 216 744
11 K8 &Fih 42 37 79 8.4 70.6 61 | &R KT 52 50 102 276 744
12 |Ingk =T 43 42 85 144 70.6 62 |BEE XF 41 42 83 8.4 746
13 | B8 & 50 46 96 25.2 70.8 63 = #&% 39 44 83 8.4 746
14 | RH 85 38 39 77 6.0 71.0 64 |EFM B 47 48 95 20.4 746
15 |[¥H =#h 42 40 82 10.8 712 65 |#HE FEE 46 42 88 132 748
16 |[INE Hif 47 47 88 16.8 71.2 66 |EBFH Tw2 47 53 100 25.2 748
17 TR &% 42 46 88 16.8 712 67 |BEH BE— 52 47 99 24.0 75.0
18 |#rfe #iR 41 40 81 96 714 68 |k B 42 38 80 48 752
19 KR ER 40 47 87 15.6 714 69 |2 f5— 57 53 110 348 75.2
20 | KRR & 42 38 80 8.4 716 70 [&JIl %E 41 38 79 36 75.4
21 |H® F— 41 45 86 14.4 716 71 | &/ = 41 44 85 96 754
22 |/ B— 44 41 85 13.2 718 72 Rl BB 49 42 91 15.6 754
23 |%& F— 42 42 84 12.0 72.0 73 |LFx E 48 43 91 156 75.4
24 | XE AIE 41 42 83 10.8 722 74 IO B 48 43 91 156 75.4
25 |{E# tHE 38 45 83 10.8 72.2 75 |FRE B 55 54 709 336 75.4
26 |Fu FE 42 40 82 96 72.4 76 |F=E IEX 41 49 90 144 75.6
27 |FE8 Bh2 40 42 82 96 72.4 77 | BB itB 48 42 90 144 75.6
28 |¥H R 43 45 38 15.6 72.4 78 % #=H 46 50 96 20.4 75.6
29 ¥/l B/E 44 50 94 21.6 72.4 79 |#E4K HI 47 49 96 20.4 75.6
30 | EH EX 37 38 75 24 72.6 80 Bl EX 49 47 96 20.4 75.6
31 |FW =4 34 41 75 24 726 81 |PIEg #h— 51 51 102 26.4 75.6
32 Ml &3t 41 40 81 84 72.6 82 e EBE— 55 47 102 26.4 75.6
33 |#El FEE 43 37 80 72 72.8 83 |l —= 41 42 83 7.2 75.8
34 ElL HFEA 38 42 80 72 72.8 84 |l E&H 48 47 95 19.2 75.8
35 INB mE 45 41 86 13.2 72.8 85 | EiE 43 45 88 120 76.0
36 [BE & 46 40 86 13.2 72.8 86 |BEH %— 41 47 88 12.0 76.0
37 [J\g = 40 46 86 13.2 72.8 87 &% Wt 41 47 88 12.0 76.0
38 |EF = 37 42 79 6.0 73.0 88 %W EF 49 45 94 18.0 76.0
39 B B— 41 38 79 6.0 73.0 89 |k & 53 47 100 240 76.0
40 =R H 40 45 85 12.0 73.0 90 | Xk #B 52 53 105 28.8 76.2
41 ol 8= 46 45 91 18.0 73.0 91 [RE &BA 43 43 86 96 76.4
42 %8H EX 38 40 78 48 73.2 92 | iFRE 43 49 92 15.6 76.4
43 'BF K2 45 39 84 10.8 73.2 93 |/NE BEE 55 49 104 276 76.4
44 ke =i 41 43 84 10.8 73.2 94 £k 1EME 56 53 109 324 76.6
45 5&k ZER 44 40 84 10.8 732 95 Rk X 56 53 709 324 76.6
46 KU Fh 37 40 77 36 73.4 96 &k A 42 42 84 7.2 76.8
47 RE Bx 38 39 77 36 73.4 97 |&RBF BE 51 45 96 19.2 76.8
48 | EF & 44 45 89 15.6 73.4 98 |7RAK Fil 50 46 96 19.2 76.8
49 H1+H ® 41 48 89 15.6 73.4 99 |HEE HEIA 46 50 96 19.2 76.8
50 [fE& kK == 42 47 89 15.6 73.4 100 |4£# 1EHH 51 45 96 19.2 76.8
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BRBREHNN-957

aAUNRE: MRERH aAUNRE: BB EH
FEEAR: 19%7RA278H (1) FEEAR: 19%#7H278 (1)
fEEa—X: OUT IN IERERER & RV ME {EM3—Z: OUT IN IEGIRER & RYME
BEEAE: WAUP BkIERL: 1:9'0A SMAHK AL WAUP BsEIERL: 1:5'0R SmMAK
HDCPLPR: $B14:99 %«1%:99 >=7:99 210 /MVY Y 5 22 A HDCPEPR: HB1%$:99 Zi$:99 >=7:99 21V Y 5 i 22 A
Ak hubsL i i 6 A Ak hubL T i 6 A
EL+—l: OUT 233589 =7 0A EL+—: OUT 233589 =7 0A
IN _ dod)d2d9ded® £t : 28 A IN__ dJodid2dadede £t : 28 A
MEL SmER OUT| IN GROSS| HDCP | NET 5 5 | {1 SmER OUT| IN GROSS| HDCP | NET i 5
107 @ E& 52 50 702 250 76.8
102 7z &% 42 41 83 6.0 77.0
103 | BRI &= 42 41 83 6.0 770
104 [tk #1T 49 46 95 180 770
105 M &% 46 49 95 18.0 770
106 |[E¥ =: 42 45 87 96 774
107 |[iII% #BF 47 58 105 276 774
108 (/N = 483 43 91 132 778
109 | M8 WBE 45 52 97 19.2 778
110 | <8 45 45 90 12.0 78.0
111 [hAK A= 46 56 102 | 240 78.0
112 (355 —H# 43 46 89 10.8 782
113 | K& HE 53 52 705 26.4 786
114 [fpIl =& 56 48 104 252 7838
115 Bk & 46 50 96 16.8 792
116 [lLO Fx 55 57 112 324 796
117 | Xk 44 42 86 6.0 80.0
118 [l %= 51 45 96 156 80.4
119 E#E) = 52 56 708 276 80.4
120 & BX 54 53 707 26.4 80.6
121 [ K &#&— 57 56 113 324 80.6
122 2@ 2= 55 51 106 252 80.8
123 [I\ES E— 48 51 99 18.0 81.0
124 [0 BER 60 57 117 36.0 81.0
125 NIH & 51 53 104 228 81.2
126 F =5 52 56 108 26.4 81.6
127 1 =i 48 49 97 14.4 82.6
128 (=B == 51 51 102 18.0 84.0
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